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128 AME XSX W T g

< '20.12¥ UMY XtSK SLH THO§ SHE (oo, %) >

T o= '20.12¢ L] MASgH| | H|E ‘20.1-128 | MHST|H]|

8t A 163,980 -4.2 -6.0| 100.0 1,885,590 5.8
2 I R 68,487) . 22l .82l a8 787,855 . 6.2
1ot ol 38,857) .- 23.1) .....720.8 2’7 552,400[ 6.2
= 9,259 .. a2l 80 5.6 ... 82,955 . 8.5
&8 8,449 ... 8.9 .20 5.2 .. 87,889 ~18.5
sxddd 8,010 Mty 18T 49 95939 105
ki o LR R s18| . L5 .21 0.2l ... 3,484 769
Mercedes—Benz| | 9,546 . 32.8| ... 13.4] 5.8 ... 76879 716
BMW ol 5749 ... 8.6 ... 12 3.5 58,393 .3%21
Audi 8,109 ... 7ol 8.1 . 190 25513 . 113.9
Volkswagen | - 2,729 . L5 I 2 [ R 17,615 . 107.0
Volvo o] 1,852 6.7) e 0.8 .. 12,798) 211
Lexus L] 1,339 408 . 59.4) 0.8 ... 8911 .. 272
MINE 1,093 163 14z 0.7l . 11,245 ...10.0
Chevrolet | . | NSRRI N 0.0 g I
Jeep ol 959 ... L] o 06| ... 8,753 ...~
Ford ol 88| . 0.7 ....735.8 08| .....7.0689 -19.1
Toyota | ... 70 140 463 0.4 . 6,154 -42.0
Porsche | ... 697) . 83.5 .. 8.7 04l ..7.779 .80
Land Rover | . 616 . 120[ 873 0.4 . 4801 ~37.8
Lincoln 1 ... S0/ 18A 0.2 ... 8.378| o
Peugeot | ... 290| S 24 0.2 ... 2,611 7255
Honda | ... 265 7858 _.TrAsl 02 ... 3,056 . ~65.1
Cadillac | 1991 24.4 . 157 O ....1.499 -12.5
Maserati | 192 152,61 306 U 932 . 726.0
Jaguar ey ...1er D198 O] 875 .. ~64.8
Citroen | .. LRS] I 340.7) . 5.6 U 930 .33
Bentley 1 . A3 7201 ..290.9 00| ... 296 129.5
Rolls—Royce | : 25| 66.7) . o 00| o LEAL 6.2
Lamborghini | 22 154l 222 . 00| o] 803| ___..75.1
Infiniti | U N -100.0f 0.0 578| . AR
Nissan | ... | DO o D -100.0f 00| _.......1.865 ~38.8
Tesla 225 ~77.3 ~52.3 0.1 11,825 386.6
e PN 131,872 -7.2 -8.2 80.4 1,594,314 5.1
29|k} 32,108 10.5 43  19.6 291,276 9.8
* 2 N StEARS AR S|, st ARMS AR 3
* LKL B, 7|0 SHEX|A, M8 Eihy, A, EFEFCHR(77HAR
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i 6 | 122 AME SEX sH T &3

< '20.128 YHE SEA =LHTON A= (BT, %) >

T =2 '20.12¥ M ald| M SalH| H| S ‘20.1—-12¢¥ M S7|H|

st A 145,195 -3.8 -6.7 100.0 1,648,945 7.2
EE s 55951 1o 29] 385 629402[ 9.5
ok 34,457 -eao| 230l 237 488335 6.6
sExe 7989 N | D 75,475 8.6
wg | saag 89| 20| 58 . 87,889 . ~18.5
R A . 120 o4l 53 93,615| 1.9
Mercedes—Benz|  9.546| 28| 134 66/ 76,879 1.6
L 2 6] 121] a0 58,393 321
audi o9l 7ol 351 21 25,513 113.9
Volkswagen | 2,729 L I I 17,615 107.0
Voo | 1352 6.7 . 6.7 09 12,798 211
Lexus | 1339 408 59.4 09 8,911| -27.2
MING 1003 163 la2| o8 11,2450 100
Chevrolet | I 0.0 of
Jeep | 059 . o I 8,753 -
Ford | 88| 30.7| 358|085 7,009 -19.1
Toyota | ol 14.0[ 463 05 6,154 ~42.0
Porsche | 697 335 787 08 7779|850
Land Rover | 616 12,0 873 o4 agoi| -37.8
Lincoln | s77| sl 03 . 3,378
Peugeot | 290 51| 24l o2l 2.611] ~25.5
Honda | 265| 358|746l 02[ 3,086 ~65.1
Cadilac | 199 2.4 157 od] 1,499 ~12.5
Maserati | 192 1526 306 o1 032 -26.0
Jaguar | el 16,7 9| ol 875 ~64.8
Ciroen | 19l 8407 o -e| o 930 =33
Bentley | . 43| 2.0 2909| 00 296 129.5
Rolls-Royoe | 25 66.7| .- o I 7l 6.2
Lamborghini_| 22| -1s4 222\ 00 303 751
nfinit | A l-to00| 0o 578 711
Nissan | = = —100| 00 1865 -38.8
Tesla 225 -77.3 -52.3 0.2 11,825 386.6
= MERF 113,320 -7.3 -9.4 78.0 1,359,959 6.6
T &t 31,875 10.8 4.0 22.0 288,986 10.3

fE N USRS, SHBURS KA
« FMA H, J[o, BRE|Y, 4

Of 2z 2ot 20 KAl E0IL FIHE JotAlH MBSEXNEF
2R3 ZZNEE AR0|R5 X}'%il’ﬂlk 0|§£| _lx__c”_"_;ll.(ﬂ 044_203_4323)0“j-” (|)_:|§‘|-$A|j| t”' L| EI’
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